EETEmaTamas NoVoeck

TE1RIE LB RS
B, AEESHEReS
WEAMHE, T/ESERIZ100 mm

AR R M ST, PR AL, WEE S KRR,
Tk VR A i A L DN [ W A O RS B H AR L A A
PEE SR e A R, RfE S, EH&FE R,

e REAR AP FE BETH IR I B B8, U BT W o b R 2R
PR SZEE, ZBIRON T 45 204 R0 e, F gt 47 i 0 g e
HI— &N 5.

AT o it L B SRR B T T R ARSI R S AT HL
EHE, BT R TR, BB RS R E ST

AR
e
o A, MARRMABE, BITRETE 100x10° KkiBgh
o MM, |k £0.075%
o bRIEHLIE B RS T
o W] AL AT B Sk i B T
o 3 FH b v ke et
o Wi SZHEER AT
o fuaph AR SRR L S
it B
s % B AL
z ES QLSS
Ea T AEEH, AISI 303, 4frBhiikBEREIE, PIIREIM2.5%6
2 fioh 21 WM2.57RAE, HE A 2R ) HRBR
EQURVS T 0 2 4 i B
WU T S gt
R BrIm 2 R R, A SRPERILE
WA BEM8 x 1Bl Js, 7 Dk

SWPVChEMc g, 3 x0.14mm?, 2%

1
TEL : 400-900-8812 4B : 18017400327 www.jjx88.com luck@jjx88.com



LEIRgaTaRas  NOVoCnk

KRR (Z-45) nIik (Z23-31) KRR (Z-45) Al (23-31)
2 ol h 3 8 o
- o -
~ U 1 o W ™~ T
! U]
| | < | | <
DIN EN ISO 1207 N DIN EN ISO 1207 o
M4x10 1,6 45 M4x10 1,6 45
HE 5 18 HEE 5 18
K140 Nem K140 Nem
2,566 M2,5x5
\ 1
- [e0]
o . ©
o M- -
O T o Q)5 - 5
HUA L 'q LA AR ‘ll
BUARATFE hiAF A H e
) o o HLbFT R [ o =
I:: ‘: k! @ a0 NIE i
h Z-45
< a;
<
[
@ Q| ©
o | | ——sw-10 o
K o
IR \\
o
ia L
I

K2 m

+0,3} o SW-10
28,8 28,8
40 40
sk EumY  wEgEs =
S #5101 475202 EEM 33-56/-57/-58/-59/-60/-61
“1=Ee 25 S 1 s 2 i
' o w4 1) L) 554
ﬁ\‘ \‘B ITE Re e B
© 0
o & 0 g
@10 | _ @10
EEM 33-56/-58/-60 EEM 33-57/-59/-61
2

TEL : 400-900-8812 4BX : 18017400327 www.jjx88.com luck@jjx88.com



LB 1RARFRIRAR

novotechnik

Siedle Group

BEFEY TE1-0025 TE1-0050 TE1-0075 TE1-0100
WS B
ShEkE (RHA) 63 94.4 134.4 166 + 1 mm
LR (RS1B) 30 55 80 105 + 1.5mm
ik
gL 174 197 228 294 g
AT I 128 152 183 248 g
TAEZ ) URF-51) <25 <25 <25 <25 N
TAEHTIRZ S (k-5 1h)) <50 <5.0 <50 <50 N
Asiti 1k SR TAEZ ) K5 N
IS NIK(3TES 18 14 11 10 Hz
(RO OR IR T st 0L TR, B APk b )
[ 5 WAET ) Jre K FL VP (AP 140 Nem
BESH
TARRFE 25 50 75 100 mm
iy £tk +0.2 +0.15 +0.1 +0.075 % FS.
4t e e +0.275 +0.225 +0.175 +0.15 % FS.
QER-AA 0.002 mm
SR TERR
B (BR) >10 kHz
WAT AR i+ 1.0 mm
355 0. 10V (R/huikBLhi > 10 kQ, HFILIE < 10mV)
HL R B HL 3 10 .. 0V (l/MAgRBLb > 10 kQ, 5 HES 10 mV)

4..20mA (% <500 Q)

20 .4 mA (fa#k <500 Q)
LR PR A CRR e B kv AR %)
AR 16 ... 30 \
TAEHLED B ek 10 % Vss
T G ) L RS D FE <1 w
LI AL <20 ppm/K
PR <36 (KA) VDC
WetEBe ), 1 R AR TAER )
#% B #i (500 VDC) >10 MQ
TS
TARIRER -40 ... +85 °C
T A 0 ... 95 (Jor k) %R.H.
HifRshbrdE (IEC 60068-2-6) 20 (5 ... 2000 Hz, Amax = 0.75 mm) g
funhitikide (IEC 60068-2-27) 50 (11 ms) (¥.iff) g
Bii$1%:4% (DIN EN 60529) IP 40
Fi i > 100 x 10° b/
MTTF (ISO 13849-1,J¢ fa 1 Bt il ke ) 25 4
et ER IARAEA R G TR AR RG D, R
i S EMCHr i EN 61000-4-2 electrostatic discharges (ESD) 4 KV, 8 kV

EN 61000-4-3 electromagnetic fields 10 V/m
EN 61000-4-4 electrical fast transients (burst) 1 kV

EN 61000-4-6 conducted disturbances, induced by RF fields 10 V/m eff.

EN 55016-2-3 radiated disturbances class B

*) T SR S R e

TEL : 400-900-8812

BT : 18017400327

3

www.jjx88.com luck@jjx88.com



LEIRgaTaRas  NoVoCnk

TT IR 5L AR RS
4. BN
TRFESCER A E A, X SR R BN B AN 37
a B EEHESED 4
I -
EE AR BN %R 1, Rk
2. WL

BNEREERHED 41_
1: 0VDC...10VDC (hikF4 it =0V)
2. 10VDC ... 0VDC (HiAF4x il = 10V)

BIRERE D 42_
1: 4mA ... 20 mA (FEFFAXIIN = 4 mA)
2: 20 A ... 4mA (FiFF4 i = 20 mA)

HSERE
101: 3§FM8x1 Bk, Hhiasil
202: NThrdk2K bRl gl

TE1 - 0100 -10 2 - 411 - 10 1
IE2EEE
FrRifE R WL
] 0025 mm%0100 mm 102: WREMIE
TEANFERE Pt ks
o 2 AN Z-45 Tk o 4N Z3-31RIIE, & 44 MAx10 BRET
o 4/ M4x10 1857 FEhgRS . 059010

o 1 ANTEANZCHE 4 finh o,
o EiH:k Z-R50, Sih4wT: 005678
RIBZE KA EF =
. ] . o 3% M8x1MER, 4 PUR DilcH 4T, 3 x0.25mm2
o AIRJHyEFR EHSE, X SN R )
AFEM R, BAESES, . BB S X o KHHS. B, EEM 33-56, RS 005602

5kmgE, ME. EEM 33-58, FEiagns: 005604
10 kgl, M5 . EEM 33-60, 7 5h4m%: 005606

o 3% M8 x 1 MZE, H PUR bl 48, 3 x0.25mm?
2kigi, WS, EEM33-57, m&gaS . 005603
5kmgdi, M5, EEM33-59, A4S . 005605
10 KM 4E, WS . EEM 33-61, fh%5S: 005607

© 02/2014

AT,
AT AT,
4
TEL : 400-900-8812 &BX : 18017400327 www.jjx88.com luck@jjx88.com



